

Marks Garden 13838 Ventura Blvd. Sherman Oaks, CA CA

PO:

**Shipping Address:** 

Invoice Date:

**Due Date:** Upon Receipt

Salesperson: Leigh Carter

scription		Qtty	Price		Total
HEARSAL D	INNER				
	Custom Truss Cladding - 10'x30'x12'H white plaster finish	1	\$3,950.00	Т	\$3,950.0
F	Dining Chairs - Siena - Whitewash Wood 17âM k 18âM k 30âM M/2 H	65	\$30.00	Т	\$1,950.0
A	Dining Chairs - Bali - Wood & Cane Back	65	\$0.00	T	\$0.0
	Barback - Napa - Wood 35"W x 12"L x 70â® №	4	\$200.00	T	\$800.0
	Custom Wallpaper Barback _ TBD	4	\$0.00	T	\$0.0
	Pendant Lamp - Panama - Concrete 01 16" x 16" x 20"H	12	\$175.00	T	\$2,100.0
	Pendant Lamp - Panama - Concrete 02 10" x 10" x 13"H	12	\$125.00	T	\$1,500.0
	Pendant Lamp - Panama - Concrete 03 12" x 12" x 12"H - Weight 5.5 lbs	12	\$150.00	T	\$1,800.0
		Total R	Total REHEARSAL DINNER		
ELCOME PAI	RTY				
	Wood Cabana - 10'x12'	3	\$2,500.00	Т	\$7,500.0
	Custom Rope Installation *we need truss structures for this*	3	\$3,750.00	Т	\$11,250.0
		Tota	Total WELCOME PARTY		
REMONY					

Description		Qtty	Price		Total
h	Dining Chairs - St. Lucia - Oak & Boucle - Coming Soon 19"W x 20"L x 30"H	200	\$30.00	Т	\$6,000.00
			Total CEREMONY		\$6,000.00
COCKTAILS					
	Custom Top Hat Covers	1	\$5,500.00	Т	\$5,500.00
	Custom Club Chairs	8	\$1,800.00	Т	\$14,400.00
	Custom Table Cloth	5	\$350.00	Т	\$1,750.00
	Custom Bar	2	\$7,000.00	Т	\$14,000.00
	Dining Chairs - Antique Brass Finish Metal Wishbone 18" x 18" x 31.5"H	30	\$30.00	T	\$900.00
			Total COCKTA	ILS	\$36,550.00
RECEPTION					
	Chandeliers - TBD	10	\$1,000.00	Т	\$10,000.00
	Custom Bar	2	\$7,000.00	Т	\$14,000.00
	Custom Flat Ceiling Treatment	1	\$24,000.00	Т	\$24,000.00
	Custom Flat Perimeter Walls (2) side walls 165'x13'H	1	\$8,500.00	T	\$8,500.00
	Peak Walls & Divider Wall (1) in emerald green velvet with swags - entrance	5	\$8,750.00	Т	\$43,750.00
	Custom Ceiling - 9'x34'	1	\$1,000.00	Т	\$1,000.00
	Booths - Nice - Black Velvet 3pc Set 10'W x 24"L x 60"H	10	\$700.00	T	\$7,000.00
	Custom Upholster Nice Booths	10	\$3,250.00	Т	\$32,500.00
	Booths - Hollywood - Emerald Green Velvet 2pc	6	\$700.00	T	\$4,200.00
	Custom Hollywood Emerald Green Velvet Booth	4	\$3,250.00	Т	\$13,000.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 39"L x 30"H	17	\$350.00	T	\$5,950.00
	Custom Banquette Covers	17	\$2,500.00	Т	\$42,500.00

		Qtty	Price		Total
	Panels - Wood Moulding - 3 Trims - Multicolor 36" X 10'H	21	\$750.00	Т	\$15,750.00
			Total RECEPTION		\$222,150.00
AFTER PARTY					
	Stage Backdrop - TBD	1	\$0.00	Т	\$0.00
	Oversize Props - Laser Cut Dj Backdrop 10'Diam	1	\$1,500.00	Т	\$1,500.00
	Accent Pillows	50	\$25.00	Т	\$1,250.00
	Oversize Props - Palm Leaves 01 4'2"W x 1"10"L x 10'2"H - 12' Palm Leaf Shade	4	\$900.00	T	\$3,600.00
O	Dj Booths - Nice - Oval Light Up - Gold 6'W x 20"L x 45.5"H	1	\$475.00	T	\$475.00
			Total AFTER PARTY		\$6,825.00
Services					
	installers travel day wednesday	18	\$450.00		\$8,100.00
	installers for install thursday	18	\$650.00		\$11,700.00
	installers for install friday	18	\$650.00		\$11,700.00
	installers to strike friday	6	\$450.00		\$2,700.00
	installers to install saturday	18	\$650.00		\$11,700.00
	installers to strike sunday	18	\$650.00		\$11,700.00
	installers to strike/drive monday	18	\$650.00		\$11,700.00
	manager onsite	1	\$4,250.00		\$4,250.00
	per diem for 6 days	19	\$414.00		\$7,866.00
	trucking	8	\$800.00	Т	\$6,400.00
	hotel room for 5 nights	10	\$1,200.00		\$12,000.00
	flameproofing & certs	1	\$2,500.00		\$2,500.00
	presentation	1	\$1,000.00		\$1,000.00
					\$5,500.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

Total Products:
Total Labor/Services/Misc:
Wear & Tear (3.00%):

\$108,816.00 \$9,071.25

\$302,375.00

Packing (0.00%): \$0.00

**Taxes**: \$29,333.63

**Discounts:** (\$0.00)

**Total:** \$449,595.88

Payments: (\$0.00)

**Balance:** \$449,595.88